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%XVLQHVV RI WKH %RDUG

$JHQGD�,WHP 3UHVHQWHU 3UHVHQWDWLRQ ,VVXHV�3ODQQHG�$FWLRQ

&RQYHQH�0HHWLQJ .HUU\�:\VRFNL $FWLRQ ¾ &DOO�WR�2UGHU

0LQXWHV�

$SSURYH�0LQXWHV %RDUG $FWLRQ ¾ 0RWLRQ�WR�DSSURYH�WKH�-DQXDU\ ��WK������ PHHWLQJ�
PLQXWHV

0LQXWHV�

3ROLF\�5HDGLQJ -XOLH�,QJZHUVHQ ¾ 1R�1HZ�3ROLFLHV�WR�3UHVHQW

0LQXWHV�

&RQVHQW�$JHQGD 6DPL�'DYLV $FWLRQ ¾ &KHFN�5HJLVWHU�WR�SRVW�RQOLQH
¾ $SSURYDO�RI�0RQWKO\�,QYRLFHV
¾ 3/�%XGJHW�&RPSDULVRQ

0LQXWHV�

)LQDQFLDO�8SGDWH 6DPL�'DYLV 8SGDWH
$FWLRQ
$FWLRQ

¾ %RDUG�)LQDQFLDO�3UHVHQWDWLRQ
¾ 3URSRVHG�3D\PHQW�WR�6WULGH
¾ 8SGDWH�'/�(YDQV�%DQN�$XWKRUL]HG�8VHUV

0LQXWHV�

(QUROOPHQW -XOLH�,QJZHUVHQ 8SGDWH ¾ 5HYLHZ�(QUROOPHQW�5HSRUW

0LQXWHV�



$FDGHPLF�8SGDWH 0RQWL�3LWWPDQ $FWLRQ
$FWLRQ
8SGDWH

¾ $FDGHPLF�&DOHQGDU
¾ 3&6&�$QQXDO�5HSRUW�5HQHZDO�&RQGLWLRQV�5HYLHZ�
¾ 3&6&�&KDUWHU�5HQHZDO�8SGDWH
¾ $FFUHGLWDWLRQ�9LVLW
¾ $FDGHPLF�*RDOV�5HYLHZ�
¾ %3$�5HJLRQDOV�8SGDWH
¾ $J�$SSOLFDWLRQ
¾ &7(�5HLPEXUVHPHQW�34,
¾ 7HVWLQJ�8SGDWH�± 12&7,�DQG�,QGXVWU\�

&HUWLILFDWLRQ��3KDUP�7HFK�
¾ 6FKRRO�VWDUW�DVVHPEO\�DQG�RULHQWDWLRQ�VHVVLRQV�

IURP�ILUVW�ZHHN ± 6HFRQG�&RKRUW�

0LQXWHV�

$GMRXUQ .HUU\�:\VRFNL $FWLRQ

0LQXWHV�
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